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1.A developer needs periodic access to cloud compute resource to test production system updates and
enhancements.

What option allows the IT organizations to optimize cloud compute resource utilization?

A. Establish a fixed contract with a cloud service provider

B. Submit IT request to leverage existing internal resources

C. Establish a pay-per use contract with a cloud service provider

D. Submit a chargeback request to utilize cloud compute resources

Answer: C

2.Incident analysis is a capability of what IBM Cloud Service Management architecture component?
A. Change management

B. Problem management

C. Incident management

D. Configuration management

Answer: B

3.What are the three cloud service models?

A. Bare metal, Infrastructure as a Services (laaS) and Platform as a Service (PaaS)

B. Infrastructure as a Service (IaaS), Platform as a Service (PaaS) and Software as a Service (SaaS)
C. Infrastructure as a Service (laaS), Platform as a Service (PaaS) and Business Process as a Service
(BPaaS)

D. Infrastructure as a Service (laaS), Software as a Service (SaaS) and Business Process as a Service
(BPaaS)

Answer: B

4 What will protect data in transit from unauthorized interception?
A. API

B. SSL

C.DES

D. AES

Answer: B

5.What two storage protocols are supported by IBM Block Storage? (Select two.)
A. REST

B. CIFS

C. SATA

D. Fibre channel

E. SOAP over HTTP

Answer: D,E
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